
NPSHA（押込み）
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NPSHA＝
10
γ ・Ps － + ha - hL

10
γ ・Pvp 

Ps： 液面の圧力（kg/cm2a.）
Pvp： 液の飽和蒸気圧力（kg/cm2a.）
ha： 液面とポンプ羽根車中心の高さ（m）
hL： ポンプ羽根車入口までの圧力損失（m）
γ： 液の密度（g/cm3）

1 MPa = 10.1972 kg/cm2



NPSHA（吸上げ）
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NPSHA＝
10
γ ・Ps － - ha - hL

10
γ ・Pvp 

Ps： 液面の圧力（kg/cm2a.）
Pvp： 液の飽和蒸気圧力（kg/cm2a.）
ha： 液面とポンプ羽根車中心の高さ（m）
hL： ポンプ羽根車入口までの圧力損失（m）
γ： 液の密度（g/cm3）

1 MPa = 10.1972 kg/cm2



NPSHA（密閉タンク）
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NPSHA＝
10
γ ・Ps － + ha ‒ hL  ＝ ha -hL

10
γ ・Pvp 

Ps： 液面の圧力（kg/cm2a.）
Pvp： 液の飽和蒸気圧力（kg/cm2a.）
ha： 液面とポンプ羽根車中心の高さ（m）
hL： ポンプ羽根車入口までの圧力損失（m）
γ： 液の密度（g/cm3）

1 MPa = 10.1972 kg/cm2


